Math 310 Quiz 4 Solution

1. Suppose det A = 2 and
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Solution: Using the definition A~ = dot Aadj A, we compute adj A as follows:
adj A = (det A)A™!
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2. Use Cramer’s rule to solve the following system of equations:

1 + 2z + 3z3 = 1
o + T3 == 0
2%2 — 3(E3 = 0

Solution: We write the system of equations in matrix-vector form:

Ax=Db
12 3 1 1
0 1 1 zo | =1 0
0 2 -3 T3 0
det A = —5. Using Cramer’s Rule we find that:
1 2 3
0 1 1
det A, 0 2 =3 -5
xl = = = — = ]_
det A -5 -5
1 1 3
0 0 1
det Ay 00 =3 0
x2 = = = — = 0
det A -5 -5
1 2 1
01 0
det As 0 20 0
T3 = = =—=0

~ detA -5 -5



